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4.1.1 HEFEHERFE

Fe,O;(s) + 3 CO(g) =2 Fe(s) + 3 CO,(g)

o E—Il Fe BL /4

B3R (C) ?

C(s) + 0.5 O,(g) = CO(9g)

« BREEHC(s) BBFEMCO(g), &HfFe,04(s)
FCO gEEF AL HiFe(s) A CO,(g)?

REBAF R DALY,




1. A RM:
AT X e R T

3

W
17

E—EKHT, BEERRIET

)@o

H,(g)+1,(g) = 2HI(g)

2. XﬂﬁJ&)@:
RS BHE o

UL A

iﬁ‘ﬁﬁfﬁﬁ’]\ U\

KCIlO, —2—2KCI + 30,



REBUERNA
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S%E‘l‘l‘@ o Hﬁﬁn .

HI

¢ / mol.L!

0.01

H,, I;
'I-' -

v -
W O = Uy,

e e e e e — e S — —

0

t/'s t/s

i/gﬂ:ﬁé c(H,),c(1,) ﬁj( C(HI) —
0, 0B K0 05 RBLHAT:
c(H,),c(L)/D, o 8/D,c(HDIE K, 05
WK X—BZ: o=y, RAHABRAE,

—th N gt s TN K.
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AT \
Elzﬁ“)[ﬁli&: 2|,. HI HI

210.01
D = ¥ Hy, I Hy, I,
A

—P/—-‘ 0 0
ﬂ"o tis t/s

(1) RAHARAFBFER AR . {2 PR
TG . SRR,

(2) WP B .
(3) BX PR Bk

N
|
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4.1.2 HREEFEHE BRI

1.5 TS R M

H,(g)+1,(g) =—2HI(g) a=p/p°
[p(HI)/ p©]> P =100Kpa

K@

28 wﬂ::@cﬁtj)i/ﬁt

T [p(H,)/ pellp(,)/ po]

a=C/C? C? =1mol -1"*

Sn’*(aq)+2Fe’*(aq)= Sn*" (aq)+2Fe**(aq)

P [c(Sn **/c®)

[ c(Fe *"/c ©)]°

[c(Sn **/c®)

[ c(Fe’" /c ©)]°

kk7ﬁ



30 FEEA 2R RN

aA(g)+bB(aq)tcC(s) = xX(gH yY (aqHzZ(1)

o lpX) pCFle(Y)ep

[p(A) PO Y @) cOF

*K EJE ERE, S5k

*ﬂ-{g ﬁJEM\/)\E:IZ@BTCijB

=

* PR TR

BRI

9y

E:—d\l*ﬁﬁ }EZ o

WAREGWZE,

£ -
N kjl: o




H,(g)+1,(g) =—2HI(g) K¢

o Lp(HD/pOY
' [pH,)/ pellp,)/ pe]
SHa@ + 1@ — M@ KF
1
[p(HI)/ p©]
K5= 1/2 7 =|KD)"”
[p(H,)/ pP1 2L p(1y) po] 7~ 1ED
2HI(g) = H,(g)*+ L (g) K3

5 |

MR Am (m#O) ’ _]:(Ke)-1
MIARYE A5 3 B K R (K)m :




M (3) =M (1) + &M (2)

&ML (4) =M (1) - RPN (2)




P R [RNRE R M EEW B LA R NAE
N CERAHTE) ﬁ@, Xz RN EEET L
i/_LSIZ@ 4&2& (Z—J ) o
Bl SH25CH M
(D2BrCl(g)= Cl,(2)+Bry(g) K50.45
@)L,(g)+Br,(g=— 2IBr(g) K%$0.051
T M
(32BrCl (g)+ L(gf— 2IBr(g)+ ClL,(g) K§
i RNO + @75
2BrCl (g)+ L(gy— 2IBr(g)+ CL(g)
KS =K% -KS =0.45%0.051=0.023

“

=

4

&



1) RNFERPBEA—HF, PEEHE
M N,O4(g) = 2NO,(g)

. 273 k B, |

\

Kc = 0.36,

N,O,(9)
K= 1/K_,=1/0.36 = 2.78

W Jz 2 2NO,(g) =

S BERATHHEEE
’rﬁ‘h“"%f(

m )

i3

KB NO,(g) = 0.5 N,O,(g)
"= (1/ K )5 =(1/0.36)°5 =

A—F¢.

1 575 IR AT,
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(2) 4Aipis. diEESmkMNE, HRE (BaE

TAAREY, HASETEERERRT.
Fe;0,(s) + 4 Hy(g) = 3 Fe(S) + 4 H,0(9)

Puo! P’
K = H,0 9
Pu,! P
(3) BUFHBHEFH0S MR, NH,0A
AFTRR

Cr,0,” + H,0=2Cr0,” +2H"
[Cro,” V[H'Y

K = -
[Cr,O; ]




4.1.3 FREFRERRENE

Bl EREAT, GeO(g)5W,0,(g)
RPMNAERGeWO, (g) :

2GeO (g) tW,04 (8)=— 2 GeWO, (g)

£ RMFFEERT, GeOFIW,0, 43 FE
N100.0kPa, PR GeWO, (2) 4N
98.0kPa. KPR GeORIW,0 7+ & P K&
2 DL R4 5 2




i 2GeO (g) + W,0, (29— 2 GeWO,

(

‘%pB/kPa 100.0 100.0 0
98 .0

B2 py/kPa -98.0 5 98.0

e 98 .0

Fp/kPa 100.0-98.0 100.0- > 98.0

p(Ge0)=100.0 kPa - 98.0 kPa =2.0kPa
98 .0

P(W,0,)=100.0 kPa kPa=51.0 kPa



2GeO (g) + W,0( (g) —2 GeWO,
(2)

£© [p(GeWO ,)/ p |’

" 1pGeO ) PP 1PIp(W,0.) 57 ]

~ (98.0/100)
 (2.0/100) (51.0/100)

=4.7x10°
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K° N, RNEITHEEAREE;
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o eeos ONYIEFRR
2 RIEE I
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a
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a(GeO)= (10(]).{())0—5(.]()))@31 x100% = 98%

(100.0 - 51.0 kPa

a(W206 ): 100 NLPa

x100% =49%
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4.2.2 MR 75 (5]
SAVAEE

A RN
aA (g)+ bB(aq)+cC(s)— xX(g)tyY(aq)+zZ()
ERRET:

g alPi(X) 1 po]7[e; (Y )/ e® |
[P:(A)/ po I'lc;B)/co |’

ERFHTEUWELZLL, ME TR,
ARHEE
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4.2.3 HEFEHLHERR
Bli: SR MCO(g)+ClL(g) =—COCL,(g)

FEMEIRE R A N7, 373KATK &1.5%x108

I N FF UG ¢,(CO)=0.0350mol-L-,

c,(C1,)=0.0270mol-L!, ¢,(COClL,)=0. iI%

373K N Bk~ 17 i) -0 R0 73 s A CO-F- 481

AR

fH: pV=nRT BKAT. VAZE, po<ng
p(B)=c(B)RT

Po(CO)=(0.0350%8.314x373)kPa=108.5
kPa

N A(C1)Y=(0 0270x8K 314373}k Pa=R3 7 kPa H22n




. CO(g)+CL, ()= COCl ,(g)
Fifcy/(mol-L1) 0.0350  0.0270 0

HiGps/kPa 108.5  83.7 0
R CL, eI 108.5-83.7 0 83.7
X COCI 55X X X -X
Ffip . /kPa 24.8+x X 83.7-
X
o PCOCL)/ p® (83.7— x)/100
[P(COY pOIp(CL) PO~ 1248+ %Y x
( 100 ](100)

=1.5x10°



FRKCIBR, B,
Bix 83.7-x=83.7, 24.8+x=24.8 .
83.7x100

24 8x
AT :p(CO)=24.8kPa , p(CL,)=2.3 x10

=1.5x10°% x=2.3x10"°

kPa
o (;;()C_oa {6’8’ 31( (o)
p.(CO )
= 1083) g ?4'8 x100%

=77.1% ™
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4.3.1 Le Chatelier [RIE

18485E, EEBIFESH Le Chatelier 121 :

RS T R R — GRES
EAFRED , “PHH R RIS X Ry

RLEZE

Le Chatelier 5 Ri& & H T 4T F4EIR

&
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4.3.2 REXCFE LR
ST, PR, J=K °
HBe(R YD) B NE (2R ) s/t
 J< K~ FERIERBE.

2 (% AW/ NBR e A B e
J > K° RSB




ﬁj?@ ZSOCH_J" / E\Z

Fe*'(aq)+ Ag*(aq) —Fe**(aq) +Ag(s)

K

3.2,

(1)3Hc(Ag)=1.00 x10-2mol-L-1,
c(Fe2t)=0.100 mol-L-!, ¢(Fe3*)=1.00 x10-
3mol-L'IHﬂ5 /E‘Zﬁ%_‘ﬁﬁl-ﬁ?

(2)”

AR, Agt Fe?t, Fe3IRE X N2

(3) Agt R NE /D7

(D1E

MERFFAG" Fe  FIIEIR AR, i

c(Fe?)
BKZ0.300 mol-L1,3RAg* 34L&,



fB: O)THE RN, AR NG
J - c(Fe’")/c®
[c(Fe*")/c®llc(Ag *)/c®]
~ 1.00x10°
~ 0.100x1.00x102

J<K® , %N IE ]334T

=1.00

(2) Fe**(aq)tAg'(aq) =
#ﬁtﬁ‘ﬂﬂtﬁg‘é;) 0.100 1.00x102 1.00x10-
& cp/(mol- L) -x -X X

P cy/(mol-LY) 0.100-x 1.00x102-x 1.00x10-3+x




¥ © c(Fe>")/c®

" [e(Fe* )/ cOlle(Ag ")/ c® |

”_ 1.00x10° + x
T (0.100— x)(1.00x10% — x)

3.2x2—1.352x+2.2x10-3=0

x=1.6x103
c(Ag")=8.4 x10-3mol-L!

c(Fe?)=9.84x10-2 mol-L-!
c(Fe3)= 2.6 x10~mol-L-!




(B)K AgH AR

co(Ag7)—c . (Ag™)

o, (Ag") = c.(Ag")

~1.6x107°
- 1.00x107

=16%

x 100%




(4) WEEHT PG Ag" B R Na,

Fe’'(aq) + Ag'(aqgy=— Fe’(aq) +Ag(s)

S 0.300- 1.00x102x  1.00x10-3+
cg/(mol-L1) ¢ 0 "7
19 1.00x107 +1.00x107 ¢,
(0.300 -1.00x10¢,)[1.00x107%(1—a,)]
a, =43%
a,(Ag") > a,(Ag")
i BV ) 5 A2 31
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4.3.3 FEIXHLEFER N
1.3 Y5 R e Ze

RUAFFIRE . BIRAZE, WAKRE
Yoy EBB/NERI o, IR, X
J<K , P IEMFZ3). ﬁz, Ny
g Jzigjcélzﬁlz%ﬁ, s, fHIEK, X
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aA (g) + bB(g) =— yY(g) t+ zZ(g)

SEAR, K © = o) p° Plp@) p” F

[p(A) p° P @) p° P

f535 N B4 8 FEARTRY x(x > 1 W
_ b () pe P lap(z) p° F
p(A) p P lp®B) po T

J:X BK@




J=x "K®

i1, J>K O PR FBS, BiFS
a3 FERN T RSN
XSS FEEADNRN,, Ty <0,
x<l, J<K , F@ERERES, B
[ SAR B FEIRDN T RS
T R NG SR FEAZE R M,

33 a7 s i 1 1570
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Y=0, xi=1, J=K S FEASAED
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Bl EREBFREN,0,(2) FINO,(g)
BEY, n(N,0,):n (NO,)=10.0:1.0. 7E
308K, 0.100MPazkfFT, RERM:

N,O,(g) = 2NO,(g); K (308)=0.315

() THEPEE & YR 2

)i, F%%@%RM/J@JJE%UZ, X
MNAE308K, 0.200MPazkf4 FitiT, P H
MG EF-PERET, RENSHS
S ENERT Z/0?




V=

fE: (1)RPMFETE]

‘lﬁji%'fq:-l:& :

Pl 1molIN,O, A .

F 468 ny/mol
PETET ng/mol

PG py/kPa

N,O4g) —
1.00
1.00-x

1.00— x
1.10+x

x100.0

2NO,(2)
0.100

0.10+2x

0.10+2x
1.10+ x

x100.0




(0.10+2x)2
o [P(NO,) pef 110+

=0.315
[p(N,0,)p8]  100-x
1.10+x
432x>+0.432x-0.337 =0
x=0.234
p(N,0, )= 1.00=0.234 . 100.0kPa = 57.4kPa
1.10+0.234
p(NO, )= 0.10+2x0.232 . 100.0kPa = 42.6kPa

1.10+0.234



()E4%8)5 5 py = 200 .0kPa
p(N,0,) =2x57.4kPa = 114.8kPa

p(NO,) =2x42.6kPa =85.2kPa

oy p°] _@s21008 _ o
p(N.O,)/p° (114.8/100)

J > K =, VAl )3 ) A 2




N,O,(g) = 2NO,(g)

FF 48 BF  ny/mol 1.00 0.100
S48 (11 n/mol 1.00-y 0.10+2y
. 1.00— y 0.10+2y
A (1D BT py/ kPa x200.0 1.10+y %2000
0.10+2y )
: yx2
[110+y ]
0315 = 100 —
: yx2

1.10+ y



8.32y° +0.832y—0.327 =0
y =0.154

- 1.00-0.154
7 1.10+0.154

p(N,O x 200.0kPa = 135kPa

p(NO. )= (200.0 —135 kPa = 65kPa
Ap(N.O, )= (135—-57.4 kPa = 78kPa

Ap(NO,, )= (65 —42.6 kPa = 22kPa
SEAT IS IR E .

&
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